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1.

Paper Code : I1 - A
(Marks : 50)

Choose the correct answer.
Each question carries 2 Marks.

Which of the following features are not found in perfectly compatitive market?
(A) Free entry and exit

(B) Sellers are price takers

(C) Buyers are price setter

(D) Homogeneous product
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What do you mean by Break-even point?

(A) AC = MC (At MC minimum)

(B) AC = AVC (At AVC minimum)

(C) MR = MC (At MC minimum)

(D) MR = AVC (At AVC minimum)
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(A) AC = MC (MC o)
(B) AC = AVC (AVC ™)
(C) MR = MC (MC o)
(D) MR = AVC (MVC ™)

. Which of the following market shows the features of perfect mobility of factors of
production?

(A) Perfect competition

(B) Pure competition

(C) Monopolistic competition

(D) Oligopoly
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. Which of the following is always hold good under perfect competition?
(A) P=AR =MR

(B) P=AR > MR

(C) P=AR <MR

(D) P=AR < MR

. Tv @A o)< eferaifae el 7R oy &2

(A) P=AR=MR

(B) P=AR > MR

(C) P=AR <MR

(D) P=AR < MR PTO.
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5. Under imperfect competition the slope of AR and MR is related as :
(A) Slope of AR = 1 slope of MR

(B) Slope of AR = 2 slope of MR
(C) Slope of AR = slope of MR

(D) None of the above
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6. What kind of equilibrium do you find in the short run market of perfect competition—
(A) Equilibrium of positive profit
(B) Equilibrium of negative profit
(C) Equilibrium of normal profit
(D) All the above
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7. Which of the following is not associated with a monopoly market?
(A) Single seller in the market
(B) Single commodity in the market
(C) No close substitute of the product

(D) Free entry and exit in the market PTO.
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8. Price elasticity of demand of the product sold by a monopolist—
(A) Ep=1
(B) Ep<1
(C) Ep>1
(D) Ep=20
b, QIR ASIE [iFe @aa sifnd wiere Fiegeiel e T 2
(A) Ep=1
(B) Ep<1
C) Ep>1
(D) Ep=20
9. Which of the following is not found in the market of monopolistic competition?
(A) Differentiated product
(B) Selling cost
(C) Free entry and exit

(D) Cut-throat competition
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According to Recardo the marginal land is—

(A) The land for which MC = MR

(B) Land for which MC > MR

(C) Land for which MC < MR

(D) Land which is not used for production
fRIte o 2ifes & 25 @l Are—

(A) MC = MR

(B) MC > MR

(C) MC <MR

(D) @ G TAMCAT FICS SN

The relation between saving and interest rate under the theory of Classical Economics—
(A) Positive

(B) Negative

(C) Indifferent

(D) None of the above
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What will happen to the speculative demand for mony if the interest rate falls to the
lowest possible level?

(A) Zero
(B) Infinite
(C) Minimum

(D) Maximum
P.T.O.



(6)

53, A B AV TN W (A0 (N0 TR Sy S0 bifemt 6 203

13.

9.

14.

>8.

(A) @Bl #{T (0 A

(B) 9Bl SHIN =1

(C) @bt sy B (A=

(D) @ft 7w B Az

What effect do you expect on the market rate of interest if level of income rises—
(A) Market rate will fall

(B) Market rate will rise

(C) Market rate will remain unchanged

(D) None of the above
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Which policy do you recommend for recovery of the economy fallen into the liquidity
trape?

(A) Monitary policy

(B) Fiscal policy

(C) Both the two

(D) None of the two
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15. Which of the following is not an instrument of Monetary policy?

(A) Bank Rate

(B) Cash Reserve Ratio

(C) Open Market Operation
(D) Subsidy allotment
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Define Credit Multiplier—

AM_ 1
(A) "AS TCRR

AY 1
(B) AT~ MPS

AC

AS

Where all signs bears usual meaning
Yol BT @I ACI—

AM _ 1
(A) AS TCRR

AY 1
(B) AT~ MPS

AC
(©) N MPC

AS

@A T8 Prelz seie ord I7ze
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Which of the following is not ture for inflation—
(A) it helps to raise monetary income

(B) it increases profit of the traders

(C) it increases the level of Employment

(D) It increases hardship for all the people
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Which of the following is not direct Tax?
(A) Sell Tax

(B) Income Tax

(C) Property Tax

(D) Professional Tax

TR (A 2o 1 T2

A) T =

(B) =W 34

(C) 37 34

(D) e 3=

Which of the following Taxes is adopted and collected by the state govts in India.

(A) Professional Tax
(B) Capital gain Tax
(C) Service Tax

(D) GST
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Find the odd man out.
(A) INTUC

(B) CITU

(C) BMS

(D) ICICI

Ta v e A 9
(A) INTUC

(B) CITU

(C) BMS

(D) ICICI

Arrange the terms under Column : A with that of under Column : B

Col : A
| BOP
I1 GST
III FDI

(A) 1 (B) 1I(A) I (C)
(B) 1(A) II(B) II (C)
(C) 1(C) 1 (B) I (A)

(D) 1(B) 1I(C) III (A)

Col : B
(A) Unified Sell Tax
(B) International Trade

(C) Investment made by foreigners
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II  GST (B) wIwwifes Aifaey
III  FDI (C) @i fafercaat

(A) I (B) 1A I ()

(B) I(A) I (B) II(C)

(C) I1(C) I (@B 1A

(D) 1 (B) II(C) II (A)

Which of the following is the most important source of revenue for the Govt. of India—
(A) Income Tax

(B) Goods and Services Tax

(C) Excise duty

(D) License Fee

TR (A SRS TR AT SPgelel S T 2
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What is Gilt Edged Market?

(A) It is the market of pure gold

(B) It is the market of all securities

(C) It is the market of Govt. securities

(D) It is the market of Shares
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What effect do you expect form a devalucition of domestic currency of India?
(A) Indian Goods and services will become cheaper in the internal market
(B) Domestic Goods and service will became rearer in the internal market

(C) Foreign Goods and services will become cheaper in the domestic market

(D) Indian Goods and services will become rearer in the foreign market
OISR (IR UR SETRICAR [ 2Ol i (TS {1732
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What is the cause of recent inflation in India—
(A) Demand pull inflation

(B) Cost push inflation

(C) Both are true

(D) None of the above

wres o ErRifen T 6
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Paper Code : I1 - B
(Marks : 100)

The figures in the margin indicate full marks.
Candidates are required to give their answers
in their own words as far as practicable.

Section - I
1. Answer six question taking two from each group : 5%6=30
Group - A

(a) What are the features of perfect competition?
(b) What do you mean by market of monopolistic competition?
(c) What are the assumptions of the marginal productivity theory of distribution.
(d) State the important features of oligopoly market.
Group - B
(e) What do you mean by speculative demand for money?
(f) Explain briefly the relation between CRR and the rate of interest.
(g) Distinguish progressive taxation from that of proportional taxation.
(h) Sketch the impact of inflation on the common people.
Group - C
(i) Point out the factors responsible for adverse balance of payment position of India.
(j) Why Government of India is disinvesting its share from the productive sectors?
(k) Highlight the factors responsible for weak labour movement in India.
() Point out the features of Indian cottage industry.
Section - II
Answer the following questions : 10x3=30

2. Discuss with a suitable diagram the short-run equilibrium of a firm under ferfect
competition.

Or

Discuss the suitable diagram the Recardian theory of rent.
P.T.O.
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3. Analyse the monetary policy of the Central Bank.

Or
Point out the advantages and disadvantages of progressive taxation.
4. Explain the importance of cottage industry in Indian economy.
Or
Discuss the features of Indian money market.
Section - III
Answer any two questions : 20x2=40
5. (a) Discuss the price determination process of a discriminating minopolist.
(b) Point out the condition under which price discrimination in possible. 12+8
6. (a) Discuss the credit creation process of commercial banks with a suitable example.
(b) What are the limitation of the process. 15+5

7. (a) Highlight the purposes of Nationalization of Indian commercial banks.

(b) How far those goals were achieved. 12+8
e - 1

1. arer ol (At ¥ w63 (16 ' 20sw Tex wie ¢ 5%6=30
et - =
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Npa el Tea whe ¢ 10x3=30

2. Oe a9t 7 2f st FIda FEaels SRy SCEsa 9|
KRR
T oarraita RAITER qieml ogl Sitebal 54|
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KRG
2N I ARt @ spfRatafer Stama 4
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CITOR S SR AR Byeslet SCatbel 4 |
G : I
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